# **House of Character in Ghaxaq**



#### **Ghaxaq, South**



€532,000

Total Rooms: 10

Bathrooms: 1

Reference No: 240061007-8104

Bedrooms: 3

Floor Area (m<sup>2</sup>): 172

## House of Character - For Sale - Ghaxaq

Ghaxaq - House of Character - An unconverted but very well kept House of Character in the beautiful village of Ghaxaq. This property comprises of nine Rooms, and many original features and characteristics such as wooden beams and stone slabs. Once converted this house will make an ideal family home. Freehold. With Full Airspace. Must be Seen.

#### **Features**

✓ Yard
✓ Roof Terrace

### Rooms

Kitchen: 2.1 x 3.9 m (8.19 m2)

✓ Dining: 5.3 x 4.2 m (22.26 m2)

✓ Sitting: 4.16 x 3.32 m (13.81 m2)

✓ Double Bedroom : 3.6 x 4.2 m (15.12 m2)

Double Bedroom : 3.7 x 4.8 m (17.76 m2)

✓ Double Bedroom : 4 x 4.26 m (17.04 m2)

Office / Study : 4.1 x 2.5 m (10.25 m2)

✓ Box Room : 1.8 x 3.4 m (6.12 m2)

✓ Laundry: 3 x 3 m (9 m2)

✓ Bathroom : 1.8 x 2.4 m (4.32 m2)

Open Space : 7.9 x 3.3 m (26.07 m2)

Open Space : 13.3 x 4.34 m (57.72 m2)

### Gallery

















**RE/MAX Superior - Fgura** RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

**RE/MAX Superior - Fgura** 368,Zabbar Road, Fgura, Malta